= = =
I o o

{(1/Nevents) d I\Ich’/dr] , Ao}
=
N

0.8

0.6

0.4

0.2

Ratio to CDF
[N

0.5

pnder]ying Even

1960 GeV ppbar
L L B B I

H LA R IR B B [ ]
:_ <N_> Vs p'Tead (b, > 0.5 GeV, [j| < 0.8) _:
. m CDF ]
| --0O-- Herwig++ 2.7.1 default _
—  --H-- Herwig 7.2.1 default ]
- _ -6 -
- -—¢~-i= e . .
N A - | B
- gﬂgga‘ﬂ‘ﬁf" e g """ & i
C B - -
- B -
N N
-8 E
_, I I R B P T I I | P I B B | P T I B []
L I L
N . S & E
- FeTsisieterte SQS}Q ____________ _____ i

g = & -

.................. | T S TP N S NP S SR R SR
0 5 10 15 20

(P [GeV]}

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


